GAUHATI HIGH COURT AT GUWAHATI

(The High Court of Assam, Nagaland, Mizoram & Arunachal Pradesh)

WRITTEN TEST (OBJECTIVE TYPE) FOR RECRUITMENT OF LDA/COPYIST/TYPIST
FOR SUBORDINATE COURTS OF ASSAM

- - - - 30/06/2013 (Sunday) - - - -

Total Marks: 100 (One Hundred) Duration: 2 hours (11 a.m. to 1

p-m.)
NOTE: 1. Answer all questions. All questions carry equal marks.
2. Space for rough work has been provided at the end.

GENERAL ENGLISH

Instruction (for Q. No. 1 to 5): Put an article in the blank space, if required.

1. Letus goto............. Park.
A) a B) an C) the D)
None
2. book you want is out of print.
A) A B) An C) The D)
None
3. girl cried.
A)a B) an C) the D)
None
4. ... one rupee Note.
A) A B) An C) The D)
None
S T word to the wise is sufficient.
A) A B) An C) The D)
None

Instruction (for Q. No. 6 to 10): Fill up the blank space with adjective, if necessary.

6. Kolkataisa................ city.

A) big B) large C) great D)
good
7. Heisan ............. man.
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A) good B) bad C) honest D) tall

8. Take.............. care of your health.

A) great B)good  _ C) the D) all
9. men must die.

A) Some B) Few O All D)
Good
10. ... boys like cricket.

A) All B) Many C) Most D) No

Instruction (for Q. No. 11 and 12): In the following questions, groups of four words
are given. In each group, one word is correctly spelt. Find the correctly spelt word.

11. A) Maesureable B) Manageable C) Marriagable D)
Manoevrable
12. A) Tussel B) Tunnle C) Tumble D) Trable

Instruction (for Q. No. 13 to 16): In the following questions, out of the four
alternatives, choose the one which can be substituted for the given sentence.

13. One who hides away on a ship to obtain a free passage?

A) Compositor B) Stoker C) Stowaway D) Shipwright
14. An unexpected piece of good fortune

A) Windfall B) Philanthropy =~ C) Benevolence D) Turnstile
15. An emolument over and above fixed income or salary

A) Perquisite B) Sinecure C) Honorarium D) Prerogative
16. The animals of a particular region

A) Flora B) Museum C) Zoo D) Fauna

Instruction (for Q. No. 17 to 26): Read each sentence to find out whether there is
any grammatical error in option A or B or C. Mark the option (A or B or C) in
which there is an error. If there is no error the answer will be option “D” (Ignore
the error of punctuation, if any).

17.  A) We discussed about the problem so thoroughly
B) on the eve of the examination
C) that I found it very easy to make it out.
D) No error
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18. A) An Indian ship
B) laden with merchandise
C) got drowned in the Pacific ocean.
D) No error

19. A) Icould not put up in a Hotel
B) because the boarding and lodging charges
C) were exorbitant.
D) No error

20. A) The Indian Radio
B) which was previously controlled by British rollers
C) is free now from the narrow vested interest.
D) No error

21. A)IfIhad known
B) this yesterday
C) I will have helped him.
D) No error

22. A) Alot of travel delay is caused

B) due to the inefficiency and lack of good management
C) on behalf of the Railways.
D) No error

23. A) One of the members
B) expressed doubt if
C) the Minister was an atheist.
D) No error

24. A) Ihave got B) my M.Sc degree C) in 1988 D) No error

25. A) Having received your letter
B) this morning, we are writing
C) to thank you for the same.
D) No error

26. A) If you lend him a book
B) he will lend it to someone else
C) and never you will get it back.
D) No error

Instructions (for Q. No. 27 to 40): Fill up the blanks.

27. He .......... not enter my house again.

A) shall B) should C) would D) will
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28. You....... keep your promise.

A) would B) will C) should D) shall

29. We......... obey the law.

A) would B) should C) will D) shall
30. Shesaidshe............. carry my books.

A) will B) would C) shall D) should
31, . you have tea?

A) will B) would C) shall D) should
32.  Children ........... obey their parents.

A) would B) will C) shall D) should
33. He......... be in the library room.

A) would B) should C) will D) shall
34. I......... swim across the river.

A) could B) might C) can D) may
35. He.......... be at home.

A) can B) could C) may D) might
36. That........... be the post man, I think.

A) will B) would C) should D) could
37. A new round of strikes ........ what we do not want.

A)is B) are C) was D) were
38. The price of food stuffs .......... gone up fantastically since 2000.

A) has B) have Q)is D) are
39. The number of absentees ......... large on rainy days then in fair weather.

A)is B) are C) were D) was
40. Inmy .............. a third World War is very unlikely.

A) calculation B) estimation C) belief D)

prospect

GENERAL INTELLIGENCE (LOGICAL REASONING & ANALYTICAL ABILITY)
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Instructions (for Q. No. 41 to 45): Find the odd man out.
41. 3,5,11,14,17,21
A) 21 B)17 014 D)3

42. 8,27,64,100,125, 216, 343
A) 27 B) 100 C)125 D) 343

43. 10, 25, 45, 54, 60, 75, 80

A) 10 B) 45 C) 54 D) 75
4. 396,462,572, 427, 671, 264

A) 39 B) 427 C) 671 D) 264
45. 6,9,15,21,24,28,30

A) 28 B) 21 C) 30 D) 28

Instructions (for Q. No. 46 to 50): In the following series, you will be looking for
both the pattern and the number pattern. Fill the blank in the middle of the series
or end of the series.

46. SCD, TEF, UGH, --—-- WKL
A) CMN B) UJI C) VI D) T

47. B2CD,-------- BCD4, B5CD, BC6D

A) B2C2D B) BC3D C) B2C3D D) BCD7
48. FAG, GAF, HAIL IAH————-
A) JAK B) HAL C) HAK D) JAI
49. ELFA, GLHA, ILJA,-——- MLNA
A) OLPA B) KLMA. C) LLMA D) KLLA

50. CMM, EOO, GQQ, ~——— KUU
A) GRR B) GSS C) ISS D) ITTS

Instructions (for Q. No. 51 to 55): Look at the following series and state what
number should come next?
51. 36, 34, 30, 38, 24,-—-—--

A) 20 B) 22 C) 26 D) 38

52. 22,21,23,22, 24,23, —eeeeev
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A) 27 B) 25 C) 26 D) 30

53. 53 53,40 40, 27 27, -

A) 2323 B) 1818 C) 1616 D)14 14
54. 28,25,5,21,18, 5,14, -~

A)11,5 B)9,5 Q) 7,5 D) 3,5
55. 3,5,8,13,21, .......

A)27 B) 29 C) 31 D) 34

Instructions (for Q. No. 56): Choose the correct letter and number combination that
will complete the following series-

T o J— D8, C16, D32
A) A2 B) E4 C) G2 D) B2

Instructions (for Q. No. 57 to 62): Choose the correct option which has a
relationship to the word given in bold, similar to the relationship between the first
two underlined words

57. Odometer is to mileage as compass is to -
A) Speed B) Hiking C) Needle D)
Direction

58. Marathon is to race as hibernation is to -

A) Winter B) Bear C) Dream D) Sleep
59. Window is to pane as book is to -

A) Novel B) Glass C) Cover D) Page
60. Cup is to coffee as bowl is to -

A) Dish B) Soup C) Spoon D) Food
61. Optimist is to cheerful as pessimist is to-

A) Mean B) Gloomy C) Petty D)

Helpful

62. Penis to poet as needle is to =
A) Thread B) Button C) Sewing D) Tailor

Instructions (for Q. No. 63 to 67): From the statements given below find out the
conclusions that will follow the statements, disregarding common known facts:

63. Statements: No women teacher can play. Some women teachers are athletes.
Conclusions: I) Male athletes can play II) Some athletes can play
A) Only conclusion I follow. B) Only conclusion II follow.
C) Both I and II follow. D) Neither I nor II follow.
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65.

66.

67.

Statements: All bags are cakes. All lamps are cakes

Conclusions: I) Some lamps are bags II) No lamp is bag

A) Only conclusion I follow. B) Only conclusion II follow.
C) Either I or II follow. D) Neither I nor II follow.

Statements: Some kings are queens. All queens are beautiful
Conclusions: I) All kings are beautiful II) All Queens are kings.

A) Only conclusion I follow. B) Only conclusion II follow.
C) Both I and II follow. D) Neither I nor II follow.

Statements: Some doctors are fools. Some fools are rich.
Conclusions: I) Some doctors are rich II) Some rich are doctors.
A) Only conclusion I follow. B) Only conclusion II follow.
C) Both I and II follow. D) Neither I nor II follow.

Statements: All fish are tortoise. No tortoise is a crocodile
Conclusions: I) No crocodile is a fish II) No fish is a crocodile

A) Only conclusion I follow. B) Only conclusion II follow.
C) Both I and II follow. D) Neither I nor II follow.

Instructions (for Q. No. 68 and 69): Find the correct answer.

68.

A and B are sisters. R and S are brothers. A’s daughter is R’s sister. What is B's
relation to A?
A) Sister B) Brother C) Uncle D) Aunt

69. The day before the day before yesterday is three days after Saturday. What
day is today?

A) Tuesdays B) Wednesday C) Thursday . D) Friday
Instructions (for Q. No. 70 to 77): Which of the comparisons given below makes the
best comparison?

70. Ointment is to rub as pill is to:

A) Massage B) Swallow C) Kill D) Eat
71.  If currency notes are paper, coins are:

A) Paper book B) steel C) Iron D) Metal
72. Throw is to ball as shoot is to;

A) Gun B) pistol C) Bullet D) rifle
73. Television is to antenna as radio is to:

A) Wave B) Aerial C) Music D) Air
74. Crutches is to walk as spectacle is to:
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A) Sea B) See C) She D)

Spectrum

75. Library is to book as book is to:
A) Library B) Read C) Page D)
Student '

76. Brother is to sister as niece is to :
A) Nephew B) Uncle C) Aunt D)
Mother

77. Milk is to glass as letter is to:
A) Post B) Envelop C) Parcel D)
Receive

Instructions (for Q. No. 78 to 80): Find the correct answer.

78. In a certain code FHQK means GIRL. How will WOMEN be written in the

same code?
A) VNLDN B) VJKLM C) VNLDM D)
VNLGN
79. If you rearrange the letter BARBIT, you would have the name of a :
A) Bird B) Reptile, C) Animal D) City

80. In a party of 35 people there are twice as many women as children and twice as
many children as men. How many of each are there?
A) 5 men, 10 children, 20 women B) 10 men, 15 children, 15 women
C) 10 men, 20 children, 10 women D) 8 men, 16 children, 16 women.
GENERAL KNOWLEDGE

Instructions (for Q. No. 81 to 100): Mark the correct answer.

81 Who is known as the architect of the Constitution of India?

A) Jawaharlal Nehru B) Mahatma Gandhi
C) Sardar Ballavbhai Patel D) Dr B. R. Ambedkar
82 What is the name of the present Chief Justice of the Gauhati High Court?
A) Ranjan Gogoi B) Amitava Roy.
C) J. Chellameswar D) Adarsh Kumar Goel

83 Who is known as the “Kalaguru”?

A) Ambikagiri Raichaudhury B) Bishnu Prasad Rabha

C) Jyoti Prasad Agarwalla D) Parbati Prasad Baruah
84 Who wrote the Assamese novel “ Asimot Jar Heral Sima”?

A) Birinchi Kumar Baruah B) Bina Baruah

C) Kanchan Baruah D) Naba kanta Baruah
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86

87

88

89

90

91

92

93

94

95

9%

Kudamkulam is in news for what?

A) The place where a nuclear disaster occurred.

B) For the local people opposing the setting up of a nuclear power plant there.
C) For election related violence.

D) For Tamilndu and Karnataka’s boundary dispute.

Entomology is the science that studies-

A) Behaviour of human beings B) Insects

C) The formation of rocks D) Origin of Species
“Garampani” is located at-

A) Golaghat ' B) Jorhat

C) Karbi Anglong D) Tinsukia

For which of the following disciplines is Nobel Prize awarded?
A) Physics and Chemistry B) A physiology and Medicines
C) Literature, Peace and Economics D) All of the Above

Hitler’s Party which came into power in 1933 is known as-
A) Labour Party B) Democratic Party
C) Nazi Party D) Ku-Klux-Klan
The lead character in the film Bandit Queen is played by -
A) Rupa Ganguly B) Seema Biswas

C) Shabana Azmi D) Madhuri Dixit
The members of Lok Sabha hold office for a term of-

A) Three Years B) Four Years C) Five Years D) Six Years
The minimum age of the voter in India is -

A) 15 years B) 18 years

C) 21 Years D) 25 years

The position of a Chief Minister is-

A) Similar to that of the Prime Minister

B) Similar to that of the President

C) Not Constitutional

D) A combination of the position of the President and the Prime Minister

Who won the Men’s French Open championship this year?

A) Roger Federer B) Andy Murray

C) Novac Dzocovic D) Rafael Nadal

Who was known as the iron man of India?

A) Gobind Ballav Pant B) Jawaharlal Nehru

C) Subhash Chandra Bose D) Sardar Vallabhbhai Patel

Natya Shastra” - the main source of India’s Classical music was written by-
A) Nara Muni B) Bharat Muni

C) Abhinav Gupt D) Tandu Muni
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97. The words “Satyameva Jayate” inscribed below the base plate of the Emblem of

India are taken from -

A) Rigveda B) Mundak Upanishad
C) Ramayana D) Geeta
98. The National Song of India was composed by -
A) Rabindranath Tagore B) Igbal
C) Bankim Chandra Chatterjee D) Pandit Ravi Shankar

99. Who is the first Indian Sports person to win an individual Gold Medal in the

Oylimpic Games ?
A) Leander Paes B) Vijendar Kumar
C) Abhinav Bindra D) Vikram Rathore

100.In which one of the following kinds of organism is the phenomenon found

wherein the female kills the male after copulation?
A) Dragonfly B) Honeybee
C) Spider - D) Pit Viper
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